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CUBE, OR SOLID MEASURE.
1728 inches

“ make 1 solid foot
27 feet =5 1 solid yard
40 feet rough, or fifty feet of hewn timber 1 ton or load
42 feet ... 1 ton of shi

1 yard of earth - o 1 load
Thus, a Corp of wood is 4 fest broad 4 feet deep, and 8 fest long, being 118 cubic feet.—4A B

of wood is 3 feet broad, 3 feet deep, and 12 feet long, being 108 cu'ic feet. 1

The dimensions of timber, stone, excavations, and all work

aken by lineal measure; but the contents are calealated by
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, which,

; then in ®
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99 galls.
1 quantity 77.11

27

3 which have length, breadth, and ¢} thn
cubic measure.

A Cuse is a solid body, and contains length, breadth, and thic
by multiplying the simple number twice into itself: thus.
multiplying the number 7 twice into itself; as,

‘kness. A eubic number is I
343 is the cube number, being proc
74+ 7 x'7T=23813.

ANGULAR MEASURE, OR DIVISIONS OF THE CIRCLE.
60 seconds =
60 minutes =
30 degrees =

1 minute 90 degrees =
1 degree 360 degrees or 12 signs =
1 sign

making the fractiona

’

MEASURE OF TIME.

1 minute 28, 29, 30, 31 days 1 calendar my,

1 hour 12 calendar months = 1 year

24 hours 1 day 365 days 1 common ye
7 days 1 week 366 days 1 leap year

28 days 1 lunarmonth

60 seconds
60 minutes

11

In 400 years, 97 are leap years, and 303 common

RULE.—First find the whole gallons 99 + 1
0

70.10,also under 9 is 7.1

9

5.10| 10.20

WEIGHT OF ENGLISH COILY.

b.

Gold: Sovereign .................... AT, o T - L e T
Half-sovereign ............ hilling
Double Sovereign Sedee 1 Sixpence S eRAE
Bilver : Crown TR O 4 3 Fourpence.........
Half-Crown..................

1 galls.
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TO MEASURE UNSQUARED TIMBER.
In order to ascertain the contents, multi
circumference, by the length. When the

5
i)

ply the square of the quarter girth, or of } of the v
buyer is not allowed his choice of girth in taper trees, h
take the mean dimensions, either by girthing it in the middle for the mean girth, or by girthing it a
two ends, and taking half of their sum. If not, girth the tree in so many places as is thought neces
then the sum of the several girths, divided by their number, will give a mean circumference, the fiu
part of which being squared, and multiplied by the length, will give the-sohd contents.

The superficial feet in a board or plank is known by multiplying the length by the breadth.
board be tapering, add the breadth of

the two ends together, and take half their sum for the mean t
and multiply the length by this mean breadth.
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NTENT ' CASE (o] IVEN UNT.
TABLE TO FIND CONTE s O A 8, &c., OF A G AMOU
line with 25 in the first columu, and under t

The solid contents of squared tim
ness, and the product again by the le
inches by the length in feet, and divid

ber are found by measuring the mean breadth b
ngth. Or multiply the square of what is ¢
e by 144, and you have the contents in feet.

Boughs, the quarter girth of which is less than 6 inches, and parts of the trunk less than 2 fecti
circumference, are not reckoned as timber.

y the mean thick
alled the quarter girthis

15 inch in every foot of quarter girth, or } of the girth, is

the circumference of the tree, or whole girth, or one-twelfth of t
allowance.

allowed for bark, except of elm. 1 ir

he quarter girth is the general fair aversy

o=
=

The quarter girth is half the sum of the breadth and depth in the middle.
The nearest approach to truth in the m
or circumference by double the length, and

easuring of timber, is to multiply the square of } of the girt

HROFVONDDO
the product will be the contents.

Examrere.—T.8. 1.149.




